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=~ (15%) FEEEMESE SAESHELEENEBON - FHEE 300 & FHERRE 75 K -
(1) a1 REE - ERAIEHEER 450 FRUHREM ?

(2) FERkimg 25 RERZE - THERIGH 285 E 315 BV ©

(3)- #E(D) - 3B 25 REVEL EFREGEEE 12000 AAYHERRA 7

= (15%) TR RS RREEHEL 250 AETEAM - Hrh 210 A BRRSEZI B IR E R Ry -
(1) FRERRIZH LB 95%IEHEER - |

(2) REMREITHRE B LLAHEIHSAD AIFE 9S%EMEKET BN S O RA PR AR E TR 0.05?
(3) EFEE K a=0.05T - Bl E BRI ERILAIRTER/\B ?

Y9~ (20%) SRANFER FEHEEER(Y)EE BERX) A ERBRRIFE - tRIERIT ¢

(1) REEREZTER 7 =4,+8X - EH(EE) 1 23 4 5

) BT ERERAIRIEEE S BEE (a=0.05) - Bs(+ExT) 27 25 18 19 11

(3) WEHRRFRHELSRE (2 =0.05) "

Plant (Empl A
71~ (20%) A company has three manufacturing plants, and company Aa ( ;oyec gzs)
officials want to determine whether there is a difference in the average » ” >3
age of workers at the three locations. The left data are the ages of five - 13 24
randomly selected workers at each plant. Perform a one-way ANOVA
. L . . 29 31 22

to determine whether there is a significant difference in the mean ages 05 ’g ’5
of the workers at the three plants (use « =0.05).

28 36 21

75~ (20%) Suppose a teller supéfvisor believes the distribution of random [Number of Arrivals Observed Frequencies

arrivals at a local bank is Poisson and sets out to test this hypothesis 0 8
by gathering information. The right data represent a distribution of 1 16
frequency of arrivals during one-minute intervals at the bank. Use 2 27
e =0.05 to test these data in an effort to determine whether they are 3 - 18
Poisson distributed. 4 13

25 8
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Labs =
RETT
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HERIMEER PO<Z<7)

H R ERATT |

R
F4

0.00

0.01

0.02 003 .

0.04  -0.05

0.06

007 008 . 009

0.0000
0.0398
0.0793
0.1179
0.1554
0.1915
0.2257
0.2580
0.2881
0.3159
0.3413
0.3643
0.3849
0.4032
0.4192
0.4332
0.4452
0.4554
0.4641
0.4713
0.4772

0.0040
0.0438
1 0.0832
0.1217
0.1591
0.1950
0.2291
0.2611
0.2910
0.3186
0.3438
. 0.3665
0.3869
0.4049
. 0.4207
0.4345
0.4463
0.4564
0.4649
0.4719
0.4778

0.0080 0.0120
0.0478 0.0517
0:0871 0.0910"
0.1255 0.1203°
0.1628 0.1664
0.1985 0.2019
0.2324 0.2357
0.2642 0.2673
0.2939 0.2967
0.3212 0.3238
0.3461 0.3485
0.3686 0.3708
0.3888 0.3907
0.4066 0.4082
0.4222 0.4236
0.4357 0.4370
0.4474 0.4484
0.4573 0.4582
0.4656 0.4664
0.4726 0.4732
0.4783 0.4788

0.0160

0.0557.

0.0048

0.1331-

0.1700
0.2054
0.2389
0.2704
0.2095
0.3264
0.3508
0.3729
0.3925
0.4009
0.4251
0.4382
0.4495
0.4591
0.4671
0.4738
0.4793

0.0199
0.0596
0.0087

.0.1368
0.1736
0.2088
0.2422
0.2734
0.3023
0.3289
0.3531
0.3749
0.3944
0.4115

10.4265
0.4394
0.4505
0.4599
0.4678
0.4744
0.4798

0.0239
0.0636

-0.1026

0.1406
0.1772
0.2123
0.2454
0.2764
0.3051
0.3315
0.3554
0.3770
0.3962
0.4131
0.4279
0.4406
0.4515
0.4608
0.4686
0.4750
0.4803

0.0279
0.0675
0.1064
0.1443
0.1808
0.2157
0.2486
0.2794
0.3078
0.3340
0.3577
0.3790
0.3980
0.4147
0.4292
0.4418
0.4525
0.4616
0.4693
0.4756
0.4808

0.0319
0.0714

0.1103
0.1480;

0.1844
0.2190
0.2517
0.2823
0.3106
0.3365
0.3599

0.3810

0.3997
0.4162
0.4306
0.4429
0.4535

0.4625

0.4699
0.4761
0.4812

0.0359
0.0753 -
0.1141 .
0.1517 . -
0.1879
0.2224
0.2549
0.2852
0.3133
0.3389
0.3621
0.3830
0.4015
0.4177
0.4319
0.4441
0.4545
0.4633
0.4706
0.4767
0.4817

F S ECERSHESR (a =0.05)

Chi-square 43 il R B

ve (d.f)

vi (d.D)

1

2

3

4 5

d.f ,Z02.05

2
Aoos

1

w 0~ o W N

N G §
g A WN 2 O

161.4
18.51
10.13
7.71
6.61
5.99
5.59
532
5.12
496
4.84
4.75
467
4.60
4.54

199.5 215.7 224.6 230.2
19.00 19.16 19.25 19.30

9.55
6.94
5.79
5.14
474
4.46
4.26
4.10
3.98
3.89
3.81
3.74
3.68

9.28
6.59
541
4,76
4.35
4.07
3.86
3.71

359

3.49
3.41
3.34
3.20

9.12 9.01
6.39 6.26
519 5.05
4.53 4.39
412 397
3.84 3.69
3.63 3.48
3.48 3.33
3.36 3.20
3.26 3.1
3.18 3.03
311 2.96
3.06 2.90

h B W N =

3.841
5.991
7.815
0.488 11.143

11,070 12.833

5.024
7.378
9.348

Poisson Fo=IETR

A

2.1

2.2

2.3

2.4 2.5

R WA 2 O

0.1225
0.2572
0.2700
0.1890
0.0002
0.0417

0.1108
0.2438
0.2681
0.19686
0.1082
0.0476

0.1003 0.0907 0.0821
0.2306 0.2177 0.2052
0.2652 0.2613 0.2565
0.2033 0.2080 0.2138
0.1189 0.1254 0.1336
0.0538 0.0602 0.0668




